7-2)

SOLUTION: 

	OPERATION
	SELECT
	LOAD

	
	S0
	S1
	L4

	C0 : R4 ← R0
	0
	0
	1

	C1 : R4 ← R1
	0
	1
	1

	C2 : R4 ← R2
	1
	0
	1

	C3 : R4 ← R3
	1
	1
	1
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7-5) 

SOLUTION: 
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b) 






7-8) 

SOLUTION:

a) Assume R1 and R2 are n-bit unsigned numbers. Value obtained by arithmetic operation is equal to sum of value stored in C (Y) and  value transfered to R1(X). 

Operation = X+Y.

2’s complement of R2 = 2n – R2

Operation = R1 + (2n – R2) = X + Y →    X = R1 + (2n – R2) – Y
Case C = 1 : 

 
Y = 2n →  X = R1 + (2n – R2) – 2n   →  X = R1 – R2.

Case C = 0 : 

Y= 0 →  X = R1 + (2n – R2) – 0       → 
X = 2n + (R1 – R2) 







X = 2n -  (R2 – R1)







X = 2’ complement of R2-R1.

b) If C is 0, we understand that there is a borrow to the most significant bit.
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